HPC REASSESSMENT Review for FIRST QUARTER

U1LT1 - Solving equations/inequalities with interval notation.
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U1LT3 - | can complete transformations on functions. | :
8. What is the equation of the given graph? 9. gwengraph is of g(x). Sketch the graph of
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UlLT4 - I can graph piecewise functions.
2x+1 for x <=2 x? =3 for x < -1
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U1LT5 Composition of Functions

AND oPERATONS F+4 . f-9, £ .%c

Evaluate the following given  f(x) = x? + 3 gx)=2x+1 h(x) = vx
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Evaluate, and find the domain. Given the graph, evaiuate the composition.
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U1LT6 - I can determine if a function is even, odd, or neither. Show algebralcally
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U2LT1 - 1 can find a functions relative and absolute maximum/minimums as well as intervals in increase,

decrease, and consistency.

18. Graph f(x) = |x — 5| + |x + 2| — 4 on your calculator. Sketch the graph below and state intervals of increase,
decrease, and consistency in interval notatlon
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U2LT2 - 1 can identify if a function is continuous or not. ! can state the type of discontinuity if one is found.
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22. g(x) = If a function is continuous and has points
f(—=1) =4and f(3) = —2, does it have any x
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U2LT4 | can construct a model to represent and or investigate by finding max/minx and intervals of mc/decMANDATORY_
Round to the nearest 100" if needed.

27.  Asheet of cardboard 6 ft. by 8 ft. will be made into a box by cutting equal-sized squares from each corner and folding up
the four edges. What size square need to be cut out of the box so the largest volume will be achieved?
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What will the size of the square be if the volume = 4 ft* ?

G’?rc.()"‘* L\':l’\ one e N CUC—P"\

(=0 k% oc wr=3 7y

28. Bob the Builder is building a rectangular garden that will be using the barn as the fourth side so—mienni[]w
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U2LT5 - I can find a function’s inverse and verify if given functions are inverses or not.
Find the following functions’ inverses. Please state the domain and range of both.
29. flx)= Las 30. fx)=+v2x-3 Confirm that the following are inverses.
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U2LT6 | can find rate of change of a function.
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Write the equation given the following:

(k- (x -5
Cx=a)(x+ D

39. Hole at 4, x-intercept at 5, vertical asy at-1 UB B

40. Vertical asy at 3, horizontal asy at -2, x-intat 1
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